
a) Et : 2 - +20 => t = 2

: O
InCt+1)" : t + 130 => t -1
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b) limt=Ent-> 0

lim InCt+ il" = 0
+= 0

· lim (t) = <- , 1
,
0
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(t) = (Et E , Elect+1)
- Litt tete
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O Find - corresponding to P(1
,
5
,
2)

x= zsin(t) => sin(t)=2
=> t=16



check : <sin() = E
,
Isin(3) = 2

② Get directional rector

= Geisint => zcost

y= 2sin2t => 40s It

z= Isinst = Gcosst

At t=/6 , x = 20s/6 = Es

y (*) = 4 cos(2) = 2

z(l) = 6 cos(3]) = 0

③ Egt : x =1t JS

E y = 5 + 25

z= Z

r'(t) = (3t1, - Isin (2t)
,
2cos(2t) (

IIrell=+ E2sin2t)" + (IcoSE

=+4Sin (2t) +4 cos(2t)

=4

= So t = Shade = (2)
n= 9t+4 u(d) = 4 u(l) = 13 = (133 - 4)du= 9dt



F'Ct)= <3 sin't cost , - b cost s int
,
Isintcost)

1) F'ctill
"

= (sinitcost) + Escositsint)" + Casintcost)
= a sinEcosit + 9cost sin't + 4sin't cosit

= sint cost (9 sin't + 90052t + 4)
= sin cost (9 +4) = 13 sin Ecost

Ilrctill = 13 sintcos +

Fu(t)=l

I I
[ 3sintcost, -3cost st, Isincost)

⑮ sintcost

= (t,st


